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Teacher/Period: Final Grade: J/ 100

Addition: Write an Equation




Question 1 (Short Answer)
F10

How many objects are there in a
rectangular array with 2 rows and 3
columns? Write as a sum of equal
addends.

Answer:

Question 4 (Short Answer)
£10

How many objects are there in a
rectangular array with 1 row and 5
columns? Write as a sum of equal
addends.

Answer:

Question 7 (Short Answer)
F10

How many objects are there in a
rectangular armray with 2 rows and 2
columns? Write an eguation to
express the total as a sum of equal
addends.

Answer:

Question 10 (Short Answer)
J10

How many objects are there in a
rectangular armray with 4 rows and 5
columns? Write as a sum of equal
addends.

Answer:

Cuestion 2 (Short Answer)
£10

How many objects are there in a
rectangular array with 5 rows and 5
columns? Write as a sum of equal
addends.

Answer:

Question 5 (Short Answer)
£10

How many objects are there in a
rectangular array with 3 rows and 5
columns? Write an equation to
express the total as a sum of equal
addends.

Answer:

Question 8 (Short Answer)
£10

How many objects are there in a
rectangular array with 5 rows and 3
columns? Write as a sum of equal
addends.

Answer:

Cuestion 3 (Short Answer)
F10

How many objects are there in a
rectangular array with 4 rows and 3
columns? Write as an equation to
express the total as sum of equal
addends.

Answer:

Question 6 (Short Answer)
F10

How many objects are there in a
rectangular array with 4 rows and 1
column? Write as a sum of equal
addends.

Answer:

Question 9 (Short Answer)
F10

How many objects are there in a
rectangular array with 3 rows and 1
column? Write an equation to
express the total as a sum of equal
addends.

Answer:




Answer Key for Addition: Write an Equation

1:2+2+2=6

25 +5+5+5+5=25
3:4+4+4=12
41+1+1+1+1=5
e e e e Sl [
B:1+1+1+1=4
-2+2=1

B34+ 3I+3 I3 =15
EX1+1:4+:1=3

10:5+5+5+5=20



